

Name: Elandu Chedera Isabella

Dept: Computer Engineering

Matr No: 15/EN902/021

SUBJECT: EN9381

1) if  $y = e^{x^2+x}$ , show that  $y' = y(2x+1) + 2y$  and hence prove that  $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$

Answer  
 $w = e^{x^2+x}$  ;  $v = 1$ ;  $v' = 0$      $y = e^{x^2+x}$  — (i)  
 $y = e^{x^2+x}$ ;  $u^n = (2x+1)^n e^{x^2+x}$

Using Leibnitz theorem:  $y^n = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v^2$

when  $y^{(n)} \Rightarrow y^{(i)}$   
 $(2x+1)^n e^{x^2+x} \cdot 1 + n(2x+1)^{(n-1)} e^{x^2+x} \cdot 0$

$y' = (2x+1)' e^{x^2+x} \cdot 1$  — (ii)

$y'' =$  from  $y'$ ;  $v = 2x+1$ ;  $v' = 2$ ;  $v'' = 0$   
 $u^n = (2x+1)^n e^{x^2+x}$

$y'' = (2x+1)' e^{x^2+x} \cdot 2x+1 + n(2x+1)^{n-1} e^{x^2+x} \cdot 2 + 0$

$y'' = (2x+1)' e^{x^2+x} \cdot (2x+1) + 1(2x+1)^0 e^{x^2+x} \cdot 2$

Substitute equ (ii) into (i)

$y'' = y'(2x+1) + 2y$

1b) Prove that  $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$

answer

Recall that  $y'' = y'(2x+1) + 2y$ ,  $y'' - y'(2x+1) - 2y = 0$

for  $y'' \Rightarrow$   $w = y''$   
 $u = y''$ ;  $u^n = y^{(n+2)}$   
 $v = 1$ ;  $v' = 0$

$y^n = u^n \cdot v + 0$   
 $\Rightarrow y^{(n+2)} = 0$

for  $(y'(2x+1))^2$   $k^n = y'(2x+1)$ ;  $u = y'$ ;  $u^n = y^{(n+1)}$ ;  $v = 2x+1$ ;  $v' = 2$ ;  $v'' = 0$

$y^n = u^n v + n u^{(n-1)} v' + 0$   
 $\Rightarrow y^{(n+1)}(2x+1) + n y^n \cdot 2$

$$\text{for } 2y; \quad w = 2y; \quad u = y; \quad u^n = y^n \\ v = 2; \quad v' = 0$$

$$y^n = u^n v + 0$$

$$y^n = y^n \cdot 2$$

$$y^n = 2y^n$$

$$\therefore y^n = y^{(n+2)} - (y^{(n+1)}(2x+1) + n2y^n) - 2y^n = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + n2y^n + 2y^n$$

$$\therefore y^{(n+2)} = (2x+1)y^{(n+1)} + 2y^{n(n+1)}$$

2) Using Leibnitz theorem, given that

1)  $y = x^3 e^{4x}$ , determine  $y^{(5)}$

Answer

$w = x^3 e^{4x}$   
 $\downarrow \quad \downarrow$   
 $v \quad u$

$v = x^3; v' = 3x^2; v'' = 6x; v''' = 6; v^{(4)} = 0$

$u = e^{4x}; u^n = 4^n e^{4x}$

Using Leibnitz theorem

$y^n = u^n v + n \binom{(n-1)}{1} u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v''' + \dots$

when  $y^{(5)}$

$y^{(5)} = 4^5 e^{4x} x^3 + 5 \cdot 4^{(5-1)} e^{4x} \cdot 3x^2 + \frac{5(5-1)}{2!} 4^{(5-2)} e^{4x} \cdot 6x + \frac{5(5-1)(5-2)}{3!} 4^{(5-3)} e^{4x} \cdot 6 + \dots$

$\frac{5(5-1)(5-2)(5-3)}{4!} 4^{(5-4)} e^{4x} \cdot 0$

$y^{(5)} = 4^{(5)} e^{4x} x^3 + 5(4^{(5-1)}) e^{4x} \cdot 3x^2 + \frac{5(5-1)}{2!} 4^{(5-2)} e^{4x} \cdot 6x + \frac{5(5-1)(5-2)}{3!} 4^{(5-3)} e^{4x} \cdot 6 + 0$

$\frac{5(5-1)(5-2)}{3!} 4^{(5-3)} e^{4x} \cdot 6 + 0$

$\Rightarrow 1024 e^{4x} x^3 + 1280 e^{4x} \cdot 3x^2 + \frac{5(4)64}{2 \times 1} e^{4x} \cdot 6x + \frac{5(4)(3)}{3 \times 2 \times 1} e^{4x} \cdot 6 + 0$

$\cdot e^{4x} \cdot 6 + 0$

$\Rightarrow 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 480 e^{4x} + 0$

$\therefore y^{(5)} = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 480 e^{4x}$

B)  $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$ , show that  $x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$

$(n^2+1) y^{(n)} = 0$

Answer

$x^2 y'' + x y' + y = 0$  [Homogenous second derivative]

for  $x^2 y^{(n)}$ ;  $w = uv$  where  $v = x^2; v' = 2x; v'' = 2; v^{(3)} = 0$   
 $u = y^{(n)}; u^n = y^{(n+2)}$



Leibnitz theorem

$$y^n = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v^2 + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^3 + \dots$$

$$\Rightarrow y^{(n+2)} \cdot x^2 + n y^{(n+2-1)} \cdot 2x + \frac{n(n-1)}{2!} y^{(n+2-2)} \cdot 2 + \frac{n(n-1)(n-2)}{3!} y^{(n+2-3)} \cdot 0$$

$$\Rightarrow x^2 y^{(n+2)} + 2xy^{(n+1)} + \frac{n(n-1)}{2!} y^n \cdot 2$$

$$x^2 y'' \Rightarrow x^2 y^{(n+2)} + 2xy^{(n+1)} + n(n-1)y^n$$

for  $xy'$  :  $w = uv$  where  $v = x; v' = 1; v'' = 0$   
 $u = y'; u^n = y^{(n+1)}$

Using Leibnitz theorem

$$y^n = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v^2 + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^3 + \dots$$

$$y^n = y^{(n+1)} x + n y^{(n+1-1)} \cdot 1 + \frac{n(n-1)}{2!} y^{(n+1-2)} \cdot 0$$

or  $y^n = xy^{(n+1)} + ny^{(n+1)} + 0$

for  $xy'$ ;  $y^n = xy^{(n+1)} + ny^{(n)}$  //

for  $y'$ ;  $w = uv$  where  $v = 1; v' = 0$   
 $u = y; u^n = y^n$

Using Leibnitz theorem,

$$\Rightarrow y^n \cdot 1 + n y^{(n-1)} \cdot 0$$

g)  $y^n$

∴ Combining all solutions

$$x^2 y'' + xy' + y = [x^2 y^{(n+2)} + 2xy^{(n+1)} + n(n-1)y^n] + [xy^{(n+1)} + ny^n] + [y^n]$$

Taking common factors

$$\Rightarrow x^2 y^{(n+2)} + xy^{(n+1)} [2n+1] + y^n [n(n-1) + n + 1]$$

$$\Rightarrow x^2 y^{(n+2)} + xy^{(n+1)} [2n+1] + y^n [n^2 - n + n + 1]$$

$$\Rightarrow x^2 y^{(n+2)} + xy^{(n+1)} [2n+1] + y^n [n^2 + 1]$$

$$\therefore x^2 y'' + xy' + y = x^2 y^{(n+2)} + xy^{(n+1)} [2n+1] + y^n [n^2 + 1] = 0$$